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(Z+@, FM—7 FM—8 FM-—110DH#l)

1000 COLOR ,0:WIDTH 80,25:CONSOLE 0,25,0,0:FOR I=1 TO 10:KEY(I) ON:NEXT I
1010 OPEN"I",#1,"COMO:(S7El)": OPEN"O",#2,"COMO: (S7E1)"
1020 DIM GL(39):DIM SP(39)

1030 ON KEY(l) GOSUB 1370

1040 ON KEY(2) GOSUB 1380

1050 ON KEY(3) GOSUB 1390

1060 ON KEY(4) GOSUB 1400

1070 ON KEY(5) GOSUB 1410

1080 ON KEY(6) GOSUB 1420

1090 ON KEY(7) GOSUB 1430

1100 ON KEY(8) GOSUB 1440

1110 ON KEY(9) GOSUB 1450

1120 ON KEY(10) GOSUB 1460

1130 '====z====s=====zz=z== === KEY IN ========== =zm=== === ===z=z====z
1140 X=POS(0) :Y=CSRLIN
1150 'ee———-- CORSOR ON ======

1160 I=0:GET@A (X,¥)~-(X,Y),GL:W=VARPTR(GL(0)):POKE W, (PEEK(W) OR &H08) :PUT@A (X,
Y)-(X,Y),GL

1170 I=I+1:IF I>30 THEN GOTO 1210

1180 IF LOF(1)<>0 THEN GET@A (X,Y)-(X,Y),GL:W=VARPTR(GL(0)) :POKE W, (PEEK(W) AND
&HF7) : PUT@A (X,Y)-(X,Y),GL:GOSUB 1470:GOTO 1140

1190 TXS=INKEYS$:IF TX$<>"" THEN GOTO 1270

1200 GOTO 1170

1210 '—mmmmm CORSOR OFF -----

1220 I1=0:GET@A (X,Y)-(X,Y),GL:W=VARPTR(GL(0)) :POKE W, (PEEK(W) AND &HF7) :PUT@A (X
IY)-(XIY)IGL

1230 I=I+1:IF I>30 THEN GOTO 1150

1240 IF LOF(1)<> 0 THEN GOSUB 1470:GOTO 1140

1250 TX$=INKEYS:IF TXS$<>"" THEN GOTO 1270

1260 GOTO 1230

1270 'emmmm e

1280 GET@A (X,Y)-(X,Y),GL:W=VARPTR(GL(0)) :POKE W, (PEEK(W) AND &HF7) :PUT@A (X,Y)-
(x,Y),GL

1290 '----- INS ==-=-

1300 IF TX$=CHR$(&H12) THEN IF X<>79 THEN GET@(X,Y)-(78,Y),GL:PUT@(X+1,Y)-(79,Y)
+GL:PUT@(X,Y)-(X,Y),SP:GOTO 1350 ELSE GOTO 1140

1310 '----- DEL -----

1320 IF TX$=CHR$(&H7F) THEN IF X<>79 THEN GET@(X+1l,Y)-(79,Y),GL:PUT@(X,Y)-(78,Y)
+GL:PUT@(79,Y)-(79,Y),SP:GOTO 1350 ELSE GOTO 1140

1330 '——-—- BS -----

1340 IF TX$=CHRS$ (&4HO08) THEN IF X<>0 THEN GET@(X,Y)-(79,Y),GL:PUT@(X-1,Y)-(78,Y),
GL:PUT@(79,Y)-(79,Y),SP:LOCATE POS(0)-1,CSRLIN:GOTO 1350 ELSE GOTO 1140

1350 PRINT TX$;:PRINT #2,TX$;:GOTO 1140
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1360 '=======z=c=z=zsrzzszs===z==z=zzzzz PFK SET ==zr==s==c=z==zns==z=zs= ===

1370 PRINT #2,CHRS$(&H1B) ;CHRS$(&H46) ;CHRS$ (&H40) ; CHRS (&HOD) ; : RETURN 'PFl

1380 PRINT #2,CHRS$(&H1B) ;CHRS (&H46) ;CHRS (&H41) ;CHRS (&HOD) ; : RETURN 'PF2

1390 PRINT #2,CHR$(&H1B) ;CHRS(&H46) ;CHR$(&H42) ;CHRS (&HOD) ; s RETURN 'PF3

1400 PRINT #2,CHRS$(&H1B);CHRS$(&H46) ;CHRS (&H43) ;CHRS (&HOD) ; : RETURN 'PF4

1410 PRINT #2,CHR$(&H1B) ;CHRS(&H46) ;CHRS(&H44) ;CHRS (&HOD) ; : RETURN 'PFS

1420 PRINT #2,CHR$ (&H1B);CHRS$ (&H46) ; CHRS$ (&H45) ;CHRS (&HOD) ; : RETURN 'PF6
1430 PRINT #2,CHRS$(&H1B) ;CHRS$ (&H46) ;CHRS (&H46) ; CHRS (&HOD) ; : RETURN 'PF7

1440 PRINT #2,CHRS${&H1B);CHRS$ (&H46) ;CHRS (&H47) ; CHRS (§HOD) ; : RETURN 'PF8
1450 PRINT #2,CHRS$(&H1B) ;CHRS$(&H46) ;CHRS$(&H48) ;CHRS (&HOD) ; :RETURN 'PF9

1460 POKE &HFDO07,&H3F:FOR I=1 TO 500:NEXT I:POKE &HFDO07,&H37:RETURN 'PFl0 BREAK

1470 '==z===z===zs===s=s============ DISPLAY ======= =======

1480 RX$="":IF LOF(1)=0 THEN RETURN

1490 RX$=RX$+INPUT$(LOF (1), #1)

1500 EP=INSTR(RX$,CHRS (&H1B))

1510 IF EP=0 THEN DIS$=RX$:GOSUB 1580:GOTO 1480

1520 IF EP>1 THEN DIS$=LEFT$(RX$,EP-1) :GOSUB 1580 :RX$=MIDS$(RX$,EP)

1530 IF LEN(RX$)<2 THEN GOTO 1490

1540 IF MID$(RX$,2,1)=CHRS$(&HOC) THEN CLS:RX$=MID$(RX$,3):GOTO 1500

1550 IF MIDS(RXS,2,1)=CHR$(&H58) THEN X=POS(0) :Y=CSRLIN:PRINT SPACES$(80-X);:LOCA

TE X,Y:RX$=MIDS (RX$,3):GOTO 1500

1560 IF LEN(RX$)<4 THEN GOTO 1490

1570 LOCATE ASC{MIDS$(RX$,4,1))-&H20,ASC(MIDS$(RX$,3,1))~-&H20:RX$=MIDS$(RXS$,5) :GOTO
1500

1580 IF DIS$="" THEN RETURN

1590 L=79-POS(0):IF L>=LEN(DIS$) THEN PRINT DIS$;:RETURN

1600 PRINT LEFTS$(DISS$,L); :WORK$=MIDS$(DIS$,L+1,1):DIS$S=MIDS(DISS,L+2)

1610 IF POS(0)=79 AND ASC(WORKS$)>=32 THEN X=POS(0) :Y=CSRLIN:PRINT WORKS$;:LOCATE

X,Y:GOTO 1580 ELSE PRINT WORKS$;:GOTO 1580

(NEC, PC—9801D#)

1000 COLOR ,0:WIDTH 80,25:CONSOLE 0,25,0,0:FOR I=1 TO 10:KEY(I) ON:NEXT I
1010 OPEN "COM:E71NN" AS #1:DEF SEG=&HA000

1020 ON KEY GOSUB 1250,1260,1270,1280,1290,1300,1310,1320,1330,1340

1030 '========= ==Ess====== = KEY IN === ====== EE==Ez==ss
1040 x POS(0) : Y=CSRLIN
ST L R — CORSOR ON ~----=-

1060 I=0:COLOR@ (X,Y)-(X,Y),4
1070 I=I+1:IF I>30 THEN GOTO 1110
1080 IF LOC(1)<>0 THEN COLOR@ (X,Y)-(X,Y),0:GOSUB 1350:GOTO 1040
1090 TXS=INKEYS$:IF TX$<>"" THEN GOTO 1170
1100 GOTO 1070
1110 'meemm—m CORSOR OFF =-~--=--

01120 1=0:COLOR@ (X,Y)-(X,Y),0
1130 I=I+1:IF I>30 THEN GOTO 1050
1140 IF LOC(1)<>0 THEN GOSUB 1350:GOTO 1040
1150 TXS=INKEYS:IF TXS$<>"" THEN GOTO 1170
1160 GOTO 1130

1170 '--~
1180 COLORE (X,Y)}-(X,Y),0
1190 '~-e--- INS —==-w

1200 IF TX$=CHR$(&H12) THEN SAD=(CSRLIN*80+X)*2:EAD=(CSRLIN*80+79)*2:FOR I=EAD T
O SAD STEP -2:POKE I,PEEK(I-2):NEXT I:POKE SAD,&H20:PRINT #1,TX$;:GOTO 1040

1210 'e---ee DEL -----

1220 IF TX$=CHR$(&HTF) THEN SAD=(CSRLIN*80+X)*2:EAD={CSRLIN*80+79)*2:FOR I=SAD T
O EAD STEP 2:POKE I,PEEK(I+2):NEXT I:PRINT #1,TX$;:GOTO 1040

1230 PRINT TXS$;:PRINT #1,TXS;:GOTO 1040

1240 '= ============== == PFK SET == === ====zzzzc====
1250 PRINT #1,CHR$(&H1B);CHRS(&H46) ;CHRS (&H40); CHRS(&H ) ; :RETURN 'PF1l

_5_,.



1260 PRINT #1,CHRS(&H1B) ;CHRS (&H46) ;CHRS (&H41) ;CHRS (&HD) ; :RETURN 'PF2

1270 PRINT #1,CHRS$(&H1B) ;CHRS(&H46) ;CHRS (&H42) ; CHRS (&HD) ; :RETURN 'PF3

1280 PRINT #1,CHRS(&H1B);CHRS(&H46) ;CHRS (&H43) ;CHRS (&HD) ; :RETURN 'PF4

1290 PRINT #1,CHRS(&H1B) ;CHRS (&H46) ;CHRS (&H44) ; CHRS (&HD) ; :RETURN 'PFS

1300 PRINT #1,CHRS$(&H1B);CHRS$(&H46) ;CHRS (&H45) ;CHRS (&HD) ; :RETURN 'PF6

1310 PRINT #1,CHRS$(&H1B);CHRS(&H46) ;CHRS (&H46) ; CHRS (&HD) ; :RETURN 'PF7

1320 PRINT #1,CHRS(&H1B) ;CHRS (&H46) ;CHRS(&H47) ; CHRS (&HD) ; :RETURN 'PF8

1330 PRINT #1,CHRS$(&H1B) ;CHRS (&H46) ;CHRS (&H48) ; CHRS (&HD) ; :RETURN 'PF9

1340 OUT &H32,&H3F:FOR I=1 TO 500:NEXT I:0UT &H32,&H37:RETURN 'PF10 BREAK
1350 = DISPLAY =======z===== =========

1360 RX$="":IF LOC(1l)=0 THEN RETURN

1370 RXS=RXS$+INPUTS(LOC(1),#1)

1380 EP=INSTR(RX$,CHR$(&H1B))

1390 IF EP=0 THEN DIS$=RX$:GOSUB 1460:GOTO 1360

1400 IF EP>1 THEN DISS$=LEFTS$(RX$,EP-1) :GOSUB 1460 :RX$=MID$(RX$,EP)

1410 IF LEN(RX$)<2 THEN GOTO 1370

1420 IF MIDS(RX$,2,1)=CHR$(&HC) THEN CLS:RX$=MIDS$(RXS$,3) :GOTO 1380

1430 IF MID$(RX$,2,1)=CHR$(&H58) THEN X=POS(0) :Y=CSRLIN:PRINT SPACES (80-POS(0));
:LOCATE X,Y:RX$=MIDS(RX$,3):GOTO 1380

1440 IF LEN(RX$)<4 THEN GOTO 1370

1450 LOCATE ASC(MIDS$(RX$,4,1))-&H20,ASC(MIDS (RX$,3,1))~&H20 :RX$=MIDS (RXS,5) :GOTO
1380

1460 IF DIS$="" THEN RETURN

1470 L=79-POS(0):IF L>=LEN(DIS$) THEN PRINT DISS$;:RETURN

1480 PRINT LEFTS$(DIS$,L); :WORK$S=MIDS(DISS$,L+1,1) :DIS$=MID$(DISS,L+2)

1490 IF POS{0)=79 AND ASC(WORK$)>=32 THEN X=POS({0):Y=CSRLIN:PRINT WORKS;:LOCATE-

X,Y:GOTO 1460 ELSE PRINT WORKS$;:GOTO 1460

SEWW
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